Circular Motion WS
1) A 200.0 g object tied to the end of a chord is whirled in a horizontal circle of 1.20 m radius at 3 rev/s. Assuming we neglect gravity (chord stays horizontal), find:

a) the centripetal acceleration of the object. 
b) the tension in the chord. 
2) An 11.0 kg rock is whirled on the end of a 4.00 m long string, completing 28 revolutions per minute. Find the centripetal force on the rock. 

3) A 0.75 kg ball moves in a horizontal circular path of radius 1.4 m with a steady speed of 6.0 m/s. Find the ball’s centripetal acceleration and the centripetal force acting on it. 
4) A particle moves in a horizontal circle of radius 3.0 m with a period of 2.0 s. What is the centripetal acceleration? 
5) A brick moves in a horizontal circle tied to a 0.95 m chord. If its period of rotation is 1.4 s, what is the brick’s centripetal acceleration? 

6) A merry-go-round rotates in a horizontal circle of radius 2.0 m. A 20.0 kg child holds on as it turns. Determine the frequency of rotation if the child experiences a centripetal force of 80. N on her hand. 

7) A bus of mass 7.00 x 104 kg is to turn a horizontal curve with a radius of 50.0 m. On that day there is 4000. N worth of friction between the bus and the road. What is the maximum safe speed the bus can travel around the curve? 

8) A horizontal bend in a road has a radius of 85 m. A car of mass 2400 kg drives at 10.0 m/s around the bend. What centripetal force is required? 

